®
E1 ER-EL Clamp Suppor ot

Refﬁ:ans DxF di K ﬁ b

: g
1490-08032 M8x32 25 8 40 7
1490-10042 |  M10x42 30 8 60
1490-12050 | M12x50 36 10 110
1490-12095 |  M12x95 36 10 150 L
1490-16062 | M16x62 45 13 240
1490-16097 |  M16x97 45 13 285 2
1490-16117 |  M16x117 45 13 310 ~
1490-20062 M20x62 50 13 320 i
1490-20097 |  M20x97 50 13 390 L——J‘“
1490-20117 |  M20x117 50 13 430
1490-24081 M24x81 50 14 445
1490-24116 | M24x116 50 14 555
1490-30180 | M30x180 70 24 1650

Product Nr. 1490 Clamp Support Bolt
« Black Coating

m Support Bolt




